2)
!
q) SX’zwj =10
Gx=1o “Z-»,’—‘D
Xz 2 -S




Seckon 94 Lineoc Ir\ﬂuia'a.{’i(s In Two v & \es

4 2)(—3\9 2 6
STeP 1 qu»h Hee (,Nrcs‘wmda'na ebuafioﬁ. Uce a ol./4
e Fov 2 or € 4d o doshed friae
fov > ov L.
Qx-'i-, =6

ST A A
2= 6 ~3y= 6
Xz 3 : -2

(3,0‘ (o— ,2)

STEP 2 ¢ Choost & Jest ron'n+ n one aﬁ Hus W‘f‘rlc
((4— vt be on Hax ln’.u.) ..T?(J' 1+ +o see if
|.'\' \A)Oka I.'\ "H"‘ '.V\Q,i)v\g(l"\/).

Test (0,0)  2x-3y4% 6

20-30 % 6
0-0 26
0~ fakt
S’\W3° j-_’p "OW -\lﬁ' FO{I\* i@‘d’ Q@ "”\M {n%ua’.)j)
shoke the fegror %«2 hes Hae st poin-}.

TE wonr et poipt ielde Fulse inp ual'a)rﬂ
SW\R} “'\} ('*'fid"‘ ‘\1\,1\‘{' AO!“\."' L\IVQ “:")-L ‘-(4

?oil\"-
o Hx-Ay 2 8 Test (o,0)
¥~ 't "_..,\‘. 40-20 >’8
7"—:% ,7,.:8 . ‘ 0>/8
=3 y: 4 ‘ Falst

(2,0 (0,-9)

ne§




\ ] ;::::e:;’,¢'7
4 I __madll
Tesk (0,0) é”’*’
‘ -
07'4 A = b
0> 0-3 & 3 > =2 hovizowta |
07-% xz:uh'cd
aut
Pac ket (-8

Desmps






